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1. FEAaBIR aEXEC X =TT 2 IV

SEHH

ENEFHXIEDT T 1ERE

15H SHTEE | HH2EE | SH3EE | STAEE | STOFEE | MERE BENEFHXIELE LI SNEFHIIEDATT 1
SEHEMAB1AES) 4,757 4,738 4,755 4,737 4,689 | 5,000
£ 2 — Rk /000
‘/ —
529 637 807 1,116 1,133 2 000 ) M—zﬁm
semqeg |EAESEIER 900 830 845 707 864 | 2000
O e — —_— et
FIIXE | ast 1,429 1,467 1,652 1,823 1,997 | 1.000 N
0
% 63.0% 56.6% 51.2% 38.8% 43.3% SHAEE SIEE SNEE SHAEE SHSEE
S > 1 ONE x= T, = s NS
oy 2k 471 618 664 650 590 COA—VER(AET) —e— BIESERI(AQE) =—emTIUlER(EEH
FLISN |meesiemk 564 526 422 369 392 B icH S B RieRE
EFHX
g &5t 1,035 1,144 1,086 1,028 982 | 0%
R 54.5% 46.0% 38.9% 35.9% 39.9%| 700
59.4%
2 —1Em 1,000 1,255 1,471 1,775 1,723 .
%
FELIER 1,464 1,356 1,267 1,076 1,256
At 30%
At 2,464 2,611 2,738 2,851 2,979 SHTEE  SHREE  SH3EE  SH4AEE  SHSEE
FEE 59.4% 51.9% 46.3% 37.7% 42.2% o RFEE(AET)




HENEFHZESLUVRELISNEFHZIEDNDT 7 1ERH

2 VUtIgEIEREE Y 2 —ShdH W

15H SHTEE | HH2EE | SH3EE | STAEE | STOFEE | MERE BENEFHXIELE LI SNEFHIIEDATT 1
BREHOAIAKS) | 9,172 | 9,288 | 9,293 9,372 | 9,295 | 5000 4395 4406 L B0 24
4,000 —
£ 2 — Rk 515 597 833 1,121 1,211 . —~—
3,000
sore sy |BEESIER 2,534 2,593 2,485 2,174 2,227 | 000
FIIXE | ast 3,049 3,190 3,318 3,295 3,438 | 1,000
s 0
Eiias 83.1%|  81.3%|  74.9%|  66.0%|  64.8% SHTEE SR SIEE SR SASEE
_tz s/ a _115’5‘2 347 361 388 523 552 t\/g_'ﬂzﬁy‘(ég-l_) _._;E:E%'flﬁﬁk(ég-l') *jﬁ)'flﬁﬁk(ég-l_)
FLISN |msesiemk 1,199 945 1,005 873 770 W icH S B ReRE
EFHX
iz At 1,546 1,306 1,393 1,396 1,322 | 0% o, o0, 28.79%
: 74.1%
e 77.6% 72.4% 72.1% 62.5% 58.2%| 709 65.0% 3 00
£ 2 — 1Rk 862 958 1,221 1,644 1,763
50%
HEEER 3,733 3,538 3,490 3,047 2,997
At 30%
At 4,595 4,496 4,711 4,691 4,760 BITEE  DIREE  SHBEE  SHIEE  DISEE
e 81.2% 78.7% 74.1% 65.0% 63.0% —o—ESE(SE)
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3. KM AEREE X —FEH L DO

1HH SHTEE | SN2FEE | SM3FEE | SHAFEE | SHSFEE | MEEH BENEFHIIELE 1 SNEFHZEOSRTT N
SMEHAR1AES) 8,371 8,415 8,431 8,417 8,381 | 5,000 4973
a000 et 3061 G010 e
2 —1{Em 993 1,018 978 967 1,038 |
3,000
jem g |BREKIER 1,675 1,677 1,822 1,772 1,857 | 5 000 - . = " -
FIIXE | ast 2,668 2,695 2,800 2,739 2,895 | 1,000
. 0
2 62.8%|  62.2%| = 65.1%|  64.7%|  64.1% SHTTERE SHMEE SH3EE SH4EE  SHISEE
% —1ERk 672 617 497 537 667 TR (EET) —e—BILIEK(EET) =l ER(EET)
FLISN |meesiemk 650 709 664 643 711 B icH S B RieRE
EFHX
iz &5t 1,322 1,326 1,161 1,180 1,378 | 90%
FEE 49.2% 53.5% 57.2% 54.5% 51.6%| 700, 2 8% .
58.3% 59.3% e 60.1%
2 —1{EmK 1,665 1,635 1,475 1,504 1,705 o — o
50%
FEELERK 2,325 2,386 2,486 2,415 2,568
éE‘I‘ 30%
a&t 3,990 4,021 3,961 3,919 4,273 SHTEE HUEE  DABEE  SF4EE  SHSEE
FEXR 58.3% 59.3% 62.8% 61.6% 60.1% e RFEE(AET)
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4 FERMIREE IR > 2 —/VH3E

15H SHTEE | HH2EE | SH3EE | STAEE | STOFEE | MERE BENEFHXIELE LI SNEFHIIEDATT 1
EREHABLERS) 9,330 9,611 9,877 10,086 10,339 | 5.000 4,361 28°4
4000 4,162 3,926 3,882
£ 2 — Rk 783 949 1,192 1,669 1,97 |
3,000
se g |BFESEIER 1,980 1,749 1,598 1,463 1,537 | 3 000 '\.\'_ — .
FhiXix &5t 2,763 2,698 2,790 3,132 3,444 | 1,000
_ 0
ERE 71.7%|  64.8%|  57.3%|  46.7%|  44.6% SHTEEE SIEE SAEE SHUFE SHSER
v a —1’FE‘Z 453 553 533 696 856 t\/g_'ﬂzﬁy‘(ég-l_) —‘—%E%?H’FESZ(@‘?T) *73\/'{4552(@%1_)
FLISN |msesiemk 946 675 559 533 554 B icH S B RieRE
EFHX
iE &5t 1,399 1,228 1,092 1,229 1,410 | 90%
e 67.6%|  55.0%|  51.2%|  43.4%|  39.3%| 00, e
£ 2 — 1Rk 1,236 1,502 1,725 2,365 2,763
50%
H LR 2,926 2,424 2,157 1,996 2,091
At 30%
At 4,162 3,926 3,882 4,361 4,854 BHTEE  DIREE  DHBEE  SHTUEE  DISEE
] o B (B
RIER 70.3%|  61.7%|  55.6%|  45.8%|  43.1% ZEER(SEN)
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5 tEHFEEREL 22— HUV

15H SMTEE | SM2EE | SM3EE | SMAEE | HFHSEE | MERH EENEFHXELE 1 SNEFHZIEOAT 1
SEHEHMAB1AES) 5,459 5,452 5,451 5,377 5,341 | 5,000
4,000
% —1Emk 628 665 579 664 704
3,000 2,697 2,696 2,564 2,528 2,600
_ M
e FEFAERK 1,240 1,247 1,226 1,159 1,281 | 3000 — —
FhiXix &5t 1,868 1,912 1,805 1,823 1,985 | 1,000
_ 0
EHES 66.4%|  65.2%|  67.9%|  63.6%|  64.5% SHTEE SMEE SIBEE SMIEE SHNSEE
_tz s/ a —1’FE‘Z 298 302 295 247 222 t)’i-{’ﬁﬁﬁ(é‘%‘l’) —‘—%Eff‘ﬁﬂzﬁﬁ(é\%ﬂ -705\/'{4553?.(@%1_)
FLISN |msesiemk 531 482 464 458 393 BT 2EHER
EFHX
iE &t 829 784 759 705 615 | 90%
REX 64.1% 61.5% 61.1% 65.0% 63.9%| 200, 65.7% 6410 65.9% 6400 64.4%
— e e —
52—k 926 967 874 911 926
50%
FEFAERK 1,771 1,729 1,690 1,617 1,674
‘%E‘I‘ 30%
At 2,697 2,696 2,564 2,528 2,600 BHTEE  DIREE  DHBEE  SHTUEE  DISEE
. e B TR (S5
R 65.7%|  64.1%|  65.9%| 64.0%| 64.4% ZEER(SEN)
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6.EFDERS L URHIFAEZIE L £ —ORIELLR

IHH SHTEE | SH2EE | SHS3EE | SH4EE | SFSEE | MMERY EENEFTHIELE 1 SNEFHIIEOAF 1
h2ED S EnaE N
37,089 37,504 37,807 37,989 38,045 | 5,000 4,854
(4B 1B KR) ' ' ' ' 4,595 O " —~ 4,760
of:i 2,464 2,611 2,738 2,851 2,979 | 4000
77 .
2 4,595 4,496 4,711 4,691 4,760
(3% ' ' ' ' ' 2,979
3,000 2697 @ £
L 3,990 4,021 3,961 3,919 4,273 S s e 2600
IBENET :
BziES & 2,000
v 1 R 4,162 3,926 3,882 4,361 4,854 SHRERE SIREE SHBEE SH4EE SHSEE
EFIHXIE
otyy—e|ILE 2,697 2,696 2,564 2,528 2,600 —— L e\ R o ] LR
R BFEE
teRoast |HEE 17,908 17,750 17,856 18,350 19,466 WLEicHd 3 EEER
E B 59.4% 51.9% 46.3% 37.7% 42.2%]| 90%
81.2%
1INV 81.2%|  78.7%|  74.1%|  65.0%| = 63.0%| 700eg 590 64 2%
65.72/0’\ 63.0%
3 58.3%|  59.3%|  62.8%|  61.6%|  60.1%| 2247 y 20-1°
§§E$ 50% 54.4%
" 43.1%
TERR 70.3% 61.7% 55.6% 45.8% 43.1% 42.2%
30%
=4 65.7% 64.1% 65.9% 64.0% 64.4% SHTEE DHREE SHIBEE SI4EE  HUSEE
HeE 68.2%|  64.4%|  62.1%|  55.3%| 54.4%| o —eTMR o IR —e— R —e—ItE ee=Ttit




